Mpnbopbl ANs N3MepeHns AaBneHnst (MaHOMETPbI, BaKyyMMETPbI)
nokasbIBaloT He abCcomnoTHOE AaBneHne BHYTPU 3aMKHYTOro obbema, a

pa3HOCTb Mexay abCcontTHbIM U aTMOCdEPHbIM, UMK
BapoMeTprnYECKUM,
OaBreHneM. 9Ty PasHOCTb Ha3biBaOT U36bIMOYHBLIM AaBeHneM [amul.

CoOOTHOLLEHUS Mexay eamHnuamMmm nsmepeHmn4d aBrieHnA:

1 amm (¢pu3)= 760 MM pm.cm.=
=10,33 M 800.cm. = 1,033 K2C/CM’ =
=10330 kac/m? = 101300 H/M? (l1a)

1 am (mexH) = 735,6 MM pm.cm. =
=10 M 800.cm. =1 KaC/CM? =
=10000 Kec/M? = 98100 H/M?.



